

Pay Estimate Created Date: January 2, 2025

Progress Estimate Number 9			Prime	240119-F7 <i>F</i> Byrne & Jor Constructio	nes Ente	erprises, Inc. d	ba Byrr	Pay Period Start ne & Jones Pay Period End	December 16, 2024 January 1, 2025	Original Con Amount Net Change Amount Current Cont Amount	م Order _{(\$} : tract	2,497,573.00 128,374.55) 2,369,198.45
Approv	al Date											
January 2	2, 2025				Generat	ed and Approv	ved (an	d should be considered	Draft) at the Pro	ject Office Lev	el by	stinnd
January 2	2, 2025			Revi	ewed ar	nd Approved (a	and sho	ould be considered Draft) at the Residen	t Engineer Lev	el by	lewisj
January 6	6, 2025					Review	wed and	d Approved at the Centra	al Office Control	lers Office Lev	el by	ramses
Origi	nal Com	pletion	Date C	urrent Com	pletion	Date	Actual	Completion Date	% of Cur	rent Contract	Amount Co	omplete
N	lovember	[.] 1, 2024	, 2024 Novemb			4	Nov	vember 1, 2024		100.00	%	
			Contract Inform	ational Dat	es	S		Milestones				
Date	Descript	ion	n Original Completion Date			nt Completion	n Date	No Milestones Exist fo	r Contract			
Accepta	nce Date											
Awardeo	d Date		February 14, 20	24	Februa	ary 14, 2024						
Letting E	Date		January 19, 202	4	Januar	y 19, 2024						
Notice to	o Proceed	d Date	March 11, 2024		March	11, 2024						
Open to Traffic Date Work Began Date		ate										
		э.	August 21, 2024		August	21, 2024						
240119-F		Gi In Di Li O	Total Posted Items Pay Gross Item Adjustments Incentive Disincentive Liquidated Damage Other Contract Adjustments) 95.43)))		\$2,369,198.45 (\$108,442.02) \$5,723.94 \$0.00 \$0.00 \$0.00 \$2,266,480.37		\$2,369,198 (\$61,146.5 \$5,723.94 \$0.00 \$0.00 \$0.00 \$2,313,775	9)	
		-	his Estimate:		\$47,	295.43						
No Data ontract / o Contra ne Item	ct Adjusti Adjustm	le ents Thi ments Ei ents Th	<u>s Estimate</u> xist on Contract <u>is Estimate</u>	Activ	stment	Other Item		Commonto		Adjustment	Line Item	Adiustme
Project Number	Line No.	It	em Description		stment ype	Other Item Adjustment Type		Comments		Adjustment Quantity	Line Item Adjustmen Unit Price	,
6S3607	0320		MINOUS PAVEN MIXTURE PG URFACE LEVEN	64-22)verrun			Unit price based on av adjustments for installe previous payment djustments of ',84.7588- appli	d quantity on all estimates. Price	558	\$84.76	\$47,295.4



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information											
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work							
J6S3487	FAS- S503(88)	Full depth reclamation, coldmill and resurface	V	ST CHARLES	from Canvas Back Road to Route 94							
J6S3607	FAS S503(39)	Resurface	Y	ST CHARLES	from Flatwoods Road to Route 79							

Totals by Job Numbers

S3487	This Estimate	Previous	To Date
Posted Item Pay	\$0.00	\$1,506,894.37	\$1,506,894.37
Gross Item Adjustments	\$0.00	(\$26,889.40)	(\$26,889.40)
Gross Item Pay	\$0.00	\$1,480,004.97	\$1,480,004.97
Incentive	\$0.00	\$3,603.75	\$3,603.75
Disincentive	\$0.00	\$0.00	\$0.00
Liquidated Damages	\$0.00	\$0.00	\$0.00
	¢0.00	\$0.00	\$0.00
Other Contract Adjustments	\$0.00	ψ 0.00	φ 0.00
	\$0.00	\$U.UU	Φ 0.00
S3607	This Estimate	Previous	To Date
		•	
\$3607	This Estimate	Previous	To Date
S3607 Posted Item Pay	This Estimate \$0.00	Previous \$862,304.08	To Date \$862,304.08
S3607 Posted Item Pay Gross Item Adjustments Gross Item Pay	This Estimate \$0.00 \$47,295.43 \$47,295.43	Previous \$862,304.08 (\$81,552.62) \$780,751.46	To Date \$862,304.08 (\$34,257.19) \$828,046.89
S3607 Posted Item Pay Gross Item Adjustments Gross Item Pay Incentive	This Estimate \$0.00 \$47,295.43 \$47,295.43 \$0.00	Previous \$862,304.08 (\$81,552.62) \$780,751.46 \$2,120.19	To Date \$862,304.08 (\$34,257.19) \$828,046.89 \$2,120.19
S3607 Posted Item Pay Gross Item Adjustments Gross Item Pay Incentive Disincentive	This Estimate \$0.00 \$47,295.43 \$47,295.43 \$0.00 \$0.00	Previous \$862,304.08 (\$81,552.62) \$780,751.46 \$2,120.19 \$0.00	To Date \$862,304.08 (\$34,257.19) \$828,046.89 \$2,120.19 \$0.00
S3607 Posted Item Pay Gross Item Adjustments Gross Item Pay Incentive	This Estimate \$0.00 \$47,295.43 \$47,295.43 \$0.00	Previous \$862,304.08 (\$81,552.62) \$780,751.46 \$2,120.19	To Date \$862,304.08 (\$34,257.19) \$828,046.89 \$2,120.19



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Note: Posted Q	uantities	and Valu	es are b	ased on R	eport Generated date and can differ from the posted amo	ount at the	time the E	Estimate wa	s Genera	ated.			
Contract Nm.CONTRACT	Project No.	Category	Line No.	ltem Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)	
240119-F7A	J6S3487	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$11,039.00	\$11,039.00	
		0001	0020	3049910	MISC.CORRECTIVE AGGREGATE	3,839.10	0.00	3,839.10	TONS	3,839.10	\$16.38	\$62,884.46	
		0001	0030	3102003	CRUSHED STONE (B)	725.00	0.00	725.00	SQYD	725.00	\$20.40	\$14,790.00	
	0001			4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	5,775.40	353.30	6,128.70	TONS	6,128.70	\$87.80	\$538,099.86	
		0001	0050	4055010	FULL DEPTH RECLAMATION	35,438.00	0.00	35,438.00	SQYD	35,438.00	\$13.30	\$471,325.40	
		0001	0060	4071005	TACK COAT	6,039.00	-729.00	5,310.00	GAL	5,310.00	\$5.95	\$31,594.50	
		0001	0070	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	1.00	0.00	1.00	EA	1.00	\$1,380.00	\$1,380.00	
		0001	0080	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	62.00	-62.00	0.00	SQYD	0.00	\$20.00	\$0.00	
		0001	0090	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK)	62.00	-62.00	0.00	SQYD	0.00	\$8.00	\$0.00	
		0001	0100	6133020	(PAVEMENT REPAIR) FURNISHING AND PLACING BITUMINOUS MATERIAL FOR	498.40	-498.40	0.00	TONS	0.00	\$150.00	\$0.00	
		0001	0110	6133021	CLASS C PARTIAL DEPTH PAVEMENT REPAIR REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	2,271.20	-2,271.20	0.00	SQYD	0.00	\$15.10	\$0.00	
		0001	0120	6139905	MISC.REMOVAL OF BITUMINOUS MATERIAL FOR FULL-DEPTH	62.10	-62.10	0.00	SQYD	0.00	\$106.50	\$0.00	
					PVMT REPAIR								
		0001	0130	6139910	MISC.FURNISH AND REPLACE BITUMINOUS MATERIAL FOR FULL-DEPTH PVMT REPAIR	41.50	-41.50	0.00	TONS	0.00	\$323.00	\$0.00	
		0001	0140	6161005	CONSTRUCTION SIGNS	816.00	0.00	816.00	SQFT	816.00	\$7.00	\$5,712.00	
		0001	0150	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	2.00	\$52.00	\$104.00	
		0001	0160	6161025	CHANNELIZER (TRIM LINE)	240.00	0.00	240.00	EA	240.00	\$27.60	\$6,624.00	
		0001	0170	6169902	MISC.NTCIP COMPLIANT CHANGEABLE MESSAGE SIGN (CONTRACTOR FURNISHED & RETAINED)	2.00	0.00	2.00	EA	2.00	\$5,175.00	\$10,350.00	
		0001	0180	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$141,621.00	\$141,621.00	
		0001	0190	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	63.00	0.00	63.00	LF	63.00	\$27.60	\$1,738.80	
		0001	0200	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	42,414.00	0.00	42,414.00	LF	42,414.00	\$0.16	\$6,786.24	
		0001	0210	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	14,801.00	0.00	14,801.00	LF	14,801.00	\$0.16	\$2,368.16	
		0001	0220	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	21,846.00	0.00	21,846.00	SQYD	21,846.00	\$2.45	\$53,522.70	
		0001	0230	6221003	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (GREATER THAN 3 IN. THICK)	35,438.00	0.00	35,438.00	SQYD	35,438.00	\$3.00	\$106,314.00	
		0001	0240	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	225.00	0.00	225.00	SQYD	225.00	\$21.55	\$4,848.75	
		0001	0250	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$1,500.00	\$1,500.00	
		0040	0260	9031280	2.5 IN. PSST POST - 12 GA.	422.00	0.00	422.00	LF	422.00	\$30.00	\$12,660.00	
		0040	0270	9031281A	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	32.00	0.00	32.00	EA	32.00	\$345.00	\$11,040.00	
		0040	0280	9035004A	SH-FLAT SHEET	181.00	0.00	181.00	SQFT	181.00	\$41.50	\$7,511.50	
		0040	0290	9035069A	SHF-FLAT SHEET FLUORESCENT	70.00	0.00	70.00	SQFT	70.00	\$44.00	\$3,080.00	
	Project J	6S3487 - To	otal Value	Posted to D	ate as of Report Generated Date							\$1,506,894.37	
	J6S3607	0001	0300	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	999.00	0.00	999.00	TONS	999.00	\$57.20	\$57,142.80	
		0001	0310	3102002	CRUSHED STONE (B)	35.00	0.00	35.00	TONS	35.00	\$98.00	\$3,430.00	
		0001	0320	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	5,974.00	558.00	6,532.00	TONS	6,532.00	\$85.30	\$557,179.60	
		0001	0330	4071005	TACK COAT	7,389.00	-2,629.00	4,760.00	GAL	4,760.00	\$6.65	\$31,654.00	
		0001	0340	4134000	BITUMINOUS FOG SEAL	2,421.00	0.00	2,421.00	GAL	2,421.00	\$4.20	\$10,168.20	
		0001	0350	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	1.00	0.00	1.00	EA	1.00	\$1,380.00	\$1,380.00	
		0001	0360	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	421.00	-135.00	286.00	TONS	286.00	\$195.00	\$55,770.00	
		0001	0370	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	3,802.00	-1,635.50	2,166.50	SQYD	2,166.50	\$8.75	\$18,956.88	
		0001	0380	6161005	CONSTRUCTION SIGNS	1,078.00	-628.00	450.00	SQFT	450.00	\$6.90	\$3,105.00	
		0001	0390	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	-4.00	0.00	EA	0.00	\$51.75	\$0.00	
		0001	0400	6161025	CHANNELIZER (TRIM LINE)	350.00	-350.00	0.00	EA	0.00	\$25.30	\$0.00	
		0001	0410	6169902	MISC.NTCIP COMPLIANT CHANGEABLE MESSAGE SIGN CONTRACTOR FURNISHED/RETAINED	2.00	0.00	2.00	EA	2.00	\$3,450.00	\$6,900.00	
		0001	0420	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$82,000.00	\$82,000.00	
		0001	0430	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN.	12.00	-12.00	0.00	LF	0.00	\$27.60	\$0.00	

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)	
240119-F7A	J6S3607				WHITE								
		0001	0440	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	64,018.00	0.00	64,018.00	LF	64,018.00	\$0.16	\$10,242.88	
		0001	0450	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	48,631.00	0.00	48,631.00	LF	48,631.00	\$0.16	\$7,780.96	
		0001	0460	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,638.00	0.00	1,638.00	SQYD	1,638.00	\$9.52	\$15,593.76	
		0001	0470	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$1,000.00	\$1,000.00	
	Project J6S3607 - Total Value Posted to Date as of Report Generated Date												
240119-F7A Ove	rall - Total	Value Post	ted to Da	te as of Repo	ort Generated Date							\$2,369,198.44	



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work. The information below this line are details for Construction Signs (if applicable). No Data Available



Line Item Adjustments by Estimate

Jan 7, 2025

Contract ID: 240119-F7A

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3487	0040	BIT. PAVEMENT MIXTURE	Other Item Adjustment	ACAD	5	Nov 4, 2024	peterr1	(\$8,548.38)	AC Adjustment for 2856.6 Tons of BP-1 Asphalt used on Route V for Mainline Paving.
		PG64-22 (BP-1)			5	Nov 4, 2024	peterr1	(\$12,871.91)	AC Adjustment for 2918.8 Tons of BP-1 Asphalt used on Route V for Mainline Paving.
				ACAD - Tota	al			(\$21,420.29)	
			Other Item Adj	justment - To	tal			(\$21,420.29)	
			Overrun	Overrun	6	Nov 18, 2024	SYSTEM	(\$30,746.44)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					7	Dec 2, 2024	SYSTEM	\$30,746.44	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',87.02644 - 87.80000, 'is applied (if non-zero).
				Overrun - T	otal	1		\$0.00	
			Overrun - Tota					\$0.00	
			Price FUEL	<u>.</u>	3	Oct 1,	SYSTEM	(\$741.20)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			FILL		4	Oct 1, 2024	SYSTEM	. ,	
						2024		(\$2,200.53)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					6	Nov 18, 2024	SYSTEM	(\$273.30)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$3,215.03)	
			Price FUEL - T	otal				(\$3,215.03)	
	0040 -	Total						(\$24,635.32)	
	0050	FULL DEPTH RECLAMATION	Material		1	Sep 3, 2024	SYSTEM	(\$56,724.50)	
				- Total				(\$56,724.50)	
			Material - Tota					(\$56,724.50)	
			MaterialCredit		2	Sep 16, 2024	SYSTEM	\$56,724.50	
				- Total				\$56,724.50	
			MaterialCredit	- Total				\$56,724.50	
	0050 -	Total						\$0.00	
	0100	FURN & PLACE BIT. MATL FOR CL C PARTIAL	Other Item Adjustment	ACAD	5	Nov 4, 2024	peterr1	(\$1,057.25)	AC Adjustment for 353.3 Tons of BP-1 Asphalt used on Route V for Partial Depth / Wedging
		CL C PARTIAL		ACAD - Tota	al			(\$1,057.25)	
			Other Item Ad	justment - To	tal			(\$1,057.25)	
	0100 -	Total						(\$1,057.25)	
	0200	4 IN. WHITE WATERBORNE PAVEMENT	Material		4	Oct 16, 2024	SYSTEM	\$6,786.24	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user peterr1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
		MARKING			4	Oct 16, 2024	SYSTEM	(\$6,786.24)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
			Other Item Adjustment	REFL	7	Dec 2, 2024	peterr1	(\$1,306.35)	Deduct was for some areas not meeting 100% passing readings with the 3rd party reflectivity.
				REFL - Tota	ıl			(\$1,306.35)	
			Other Item Adj	justment - To	tal			(\$1,306.35)	
	0200 -	Total						(\$1,306.35)	
	0210	4 IN. YELLOW WATERBORNE PAVEMENT	Material		4	Oct 16, 2024	SYSTEM	\$2,368.16	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user peterr1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
		MARKING			4	Oct 16, 2024	SYSTEM	(\$2,368.16)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
			Other Item Adjustment	REFL	7	Dec 2, 2024	peterr1	\$109.52	Bonus for some areas exceeding 100% passing readings with the 3rd party reflectivity.
			, ajustillent	REFL - Tota	1	2024		\$109.52	
								\$105.52	



Line Item Adjustments by Estimate

Jan 7, 2025

Contract ID: 240119-F7A

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3487	0210	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	Other Item Ad	justment - To	tal			\$109.52	
	0210 -	Total						\$109.52	
J6S3487	- Total							(\$26,889.40)	
J6S3607	0320	BITUMINOUS	Other Item Adjustment	ACAD	5	Nov 4, 2024	peterr1	(\$11,015.00)	AC Adjustment for 2384.2 Tons of BP- 2 Asphalt used on Route Y for Mainline Paving.
		MIXTURE PG64-22 (SUR			5	Nov 4, 2024	peterr1	(\$19,162.84)	AC Adjustment for 4147.8 Tons of BP- 2 Asphalt used on Route Y for Mainline Paving.
				ACAD - Tota				(\$30,177.84)	
			Other Item Ad	justment - To	tal			(\$30,177.84)	
			Overrun	Overrun		Nov 4, 2024	SYSTEM	(\$47,295.43)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					9	Jan 2, 2025	SYSTEM	\$47,295.43	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',84.75884 - 85.30000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
			Price FUEL		4	Oct 16, 2024	SYSTEM	(\$1,290.23)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					5	Nov 4, 2024	SYSTEM	(\$2,244.63)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$3,534.86)	
			Price FUEL - 1	otal				(\$3,534.86)	
	0320 -	Total						(\$33,712.70)	
	0360	FURN & PLACE BIT. MATL FOR CL C PARTIAL	Other Item Adjustment	ACAD	5	Nov 4, 2024	peterr1	(\$1,258.95)	AC Adjustment for 272.5 Tons of BP-2 Asphalt used on Route Y for Partial Depth Repairs.
				ACAD - Tota	al			(\$1,258.95)	
			Other Item Ad	justment - To	tal			(\$1,258.95)	
	0360 -	Total						(\$1,258.95)	
	0380	CONSTRUCTION SIGNS	Material		4	Oct 16, 2024	SYSTEM	\$3,105.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user peterr1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					4	Oct 16, 2024	SYSTEM	(\$3,105.00)	
				- Total				\$0.00	
			Material - Tota	u -				\$0.00	
	0380 -	Total						\$0.00	
	0410	MISC. TRAFFIC CONTROL DEVICES	Material		4	Oct 16, 2024	SYSTEM	\$6,900.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user peterr1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					4	Oct 16, 2024	SYSTEM	(\$6,900.00)	
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
	0410 -	Total						\$0.00	
	0440	4 IN. WHITE WATERBORNE	Other Item Adjustment	REFL	8	Dec 16, 2024	peterr1	\$409.72	Reflectivity Bonus for 4" White Paint.
		PAVEMENT MARKING		REFL - Tota	I			\$409.72	
			Other Item Ad	justment - To	tal			\$409.72	
	0440 -	Total						\$409.72	
	0450	4 IN. YELLOW WATERBORNE PAVEMENT	Other Item Adjustment	REFL	8	Dec 16, 2024	peterr1	\$304.74	Reflectivity Bonus for 4" Yellow Paint.
		MARKING		REFL - Tota	I			\$304.74	
			Other Item Ad	justment - To	tal			\$304.74	
	0450 -	Total						\$304.74	
J6S3607	- Total							(\$34,257.19)	



Line Item Adjustments by Estimate

Contract ID: 240119-F7A

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
Overall -	Total					(\$61,146.59)			



Contract Adjustments for Contract - 240119-F7A

Estimate Number	Project	Adjustment Type	Other Adjustment Type	Adjustment Amount	Adjustment Percentage by Project	Created Date	Created By	Comments
8	J6S3487	Incentive	ABIR	\$3,603.75	62.95919859	Dec 16, 2024	peterr1	Bonus for Route V, J6S3487 for IRI Smoothness after the East/West section was diamond grinded and a new profilograph test was performed.
	J6S3607	Incentive	ABIR	\$2,120.19	37.04080141	Dec 16, 2024	peterr1	Bonus for Route V, J6S3487 for IRI Smoothness after the East/West section was diamond grinded and a new profilograph test was performed.
8 - Total					\$5,723.94			
Overall - T	otal				\$5,723.94			